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General Instructions :
(1) This question paper contains 13 questions.

(11) All questions are compulsory. Marks are indicated against each

question.

(111) This question paper contains 5 questions of 2 marks each, 5 questions of

3 marks each and 3 questions of § marks each.

(tv) 2 marks questions are Short Answer Type questions and are to be

answered in 30 — 50 words.

(V) 3 marks questions are Short Answer Type questions and are to be

answered in 50 — 80 words.

(vi) & marks questions are Long Answer Type questions and are to be

answered in 80 — 120 words.

(vit) There is no overall choice in the question paper. However, internal
choice has been prouvided in few questions. The candidates need to

attempt only one question from such questions.

(viit) This question paper contains Case/Source Based Question also.

1. (a) Using a suitable example, distinguish between positive externalities
and negative externalities. 2

OR

(b) Using a suitable example, distinguish between stock variables and
flow variables. 2

2. Justity the following statement with valid argument :

‘At higher levels of income people generally have lower Marginal

Propensity to Consume (MPC). 2

3. (a) State any two harmful effects of Global warming. 2
OR

(b) State any two advantages of ‘sustainable development’. 2

R % P.T.0O.
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4. (a) U HIcAHh AT o [T 3T o et T bl TUHT e, FST8eh IR T I8 A1
8, T -

(i) @ e (1) =% 2,500 HUS, q1

(i) 99 ®ed; C = 1000 + 0.8Y
SR C =3 aY = A 2

AN

(b) Uh HIcqeh JYFILIT b foTT, 3 H gfitaa (AY) i 0T L, raeh s d 98

g, 6 :
(i) HmHrE I9Hr ygikd (MPC) = 0.75, a1
(ii) T g gfedd (AI) = ¥ 20,000 HUS 2

5. Tl Ug 9 W8-S9 A H gig Bl 8, gHATEl @le sl FEHT hl SATIeIRAIS H k]
qiErdH 37T 2 |

T 3T feU U U= A T&ud & 7 ST deh gRT 3794 3T T THH H | 2

6. (a) U hicui-eh JALATILUT T Hifgeh bl Tic] 3T o Hod hl IFIAM TV, STafeh T8

1A g Toh AT Fehel BRe] 3¢UTG d o Faehieh shi¥l: T 500 HUS T 125 7 | 3
Jran

(b) | SHION gRT W8 L fop, Fafefga # 9 o= wyra <61 ¥ 319 ° afeifea &

(1) i Wik g | 33t ferfide & 3130 (Shares) hi Tk a9 g @dT |
(ii) ST TErd W gaTaT™ g1 ST HHehl i oid T JITdH |

(iii) YSTRTA FURTAT 9 HBHI GRI ST T HoIg 3
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4. (a) Calculate equilibrium level of income for a hypothetical economy, for

which 1t 1s given that :

(1) Autonomous Investments (I ) =< 2,500 crores, and

(11) Consumption Function; C = 1000 + 0.8Y

where C = Consumption

and Y = Income 2

OR

(b) Calculate, change in Income

which 1t 1s given that :

(AY) for a hypothetical economy, for

(1) Marginal Propensity to Consume (MPC) = 0.75, and

(11) Change 1n Investments (AI) =< 20,000 crores. 2

5. ‘In any country, as the income rises the composition of infrastructure

requirements changes significantly.’

Do you agree with the given statement ? Support your answer with

suitable argument. 2
6. (a) Estimate the value of Nominal Gross Domestic Product (GDP) for a
hypothetical economy. The values of Real Gross Domestic Product
(GDP) and Price Index are given as I 500 crores and 125
respectively. 3
OR
(b) Giving valid reasons explain, which of the following will not be
included in the estimation of National Income of India ?
(1) Purchase of shares of Sethi Ltd. by an investor in the Bombay
Stock Exchange.
(11) Salaries paid by Indian Embassy situated at Japan, to the local
workers.
(111) Depreciation on capital assets charged by firms. 3

; =2 pro
=E pro

LOLLEGE.:



<1 T8 3T T | Toh=gl gl Hehaehl o YR T WRA 3T Sicieh ohi Ty TRt i qorl

7
3T forgeryor & -
31 YT o AU WRA hl AT (T Fohelah) (2015-17)
&
(1) | TRrrgeg /1000 Siferd ST 34 | 8 | 57 | 15
(i) |5 99 ¥ HH g /1000 Siferd S 394 93 | 66 | 8.8
(iii) | freraT &1 SR (DTP) % 88 | 99 95 99
iv) | Giil @reed &34 (GDP & % & €9 H) 3.9 | 5.7 | 16.8 3
| : HDI 2018 @ WDI 2018
8.  Weh hicUl-eh 3GIEWVT G, Teh JTUHAEIT H {431 TUTeh hi hIAIUITC! hi TofaraHT < | 3
9. (a) (1) T=AfciRad ATHSl & YR T, G AN T Tohed TP 3G o Jod hl
T Y, : 3
Y . = 9 (T e H)
1) | ZHehl T ATEHS 12,000
i) | e a s 1,800
(iii) | AT T 1,120
(v) | <™ 1,500
(v) | I8 1,100
(V1) 39qH 210
(vii) | forcen & e g |ree 3™ (—) 120
(viil) | SISl bt ffse 3 1,300
(ii) Tertrm a Gaedt | favie &t | 2
Jreran
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7. Compare and analyse the health status of India and Sri Lanka, on the

basis of any two indicators from the given schedule : 3
Indicators of Health in India in Comparison with other nations, 2015-17.
S. Indicators India | China | USA Sri
No. Lanka
(1) | Infant Mortality Rate/1000 live 34 8 5.7 7.5
births
(11) | Under-5, Mortality Rate/1000 | 39.4 9.3 6.6 8.8
live births
(111) | Infants Immunised (DTP) in % 88 99 95 99
(1v) | Government Health spendings | 3.9 5.7 16.8 3
as a % of GDP
Sources : HDI 2018 and WDI 2018
8. Using a hypothetical example, elaborate the working of investment
multiplier in an economy. 3
9. (a) (1) From the following data, calculate the value of Gross National
Product at Factor Cost (GNPg) : 3
S. No. Items Amount in
(X Crores)
(1) Compensation of Employees 12,000
(11) Rent and Interest 1,800
(111) | Indirect taxes 1,120
(iv) | Profits 1,500
(V) Depreciation 1,100
(vi) | Subsidies 210
(vi1) | Net Factor Income from Abroad (—) 120
(viil) | Mixed Income of Self Employed 1,300
(11) Daistinguish between Rent and Royalty. 2

5]

OR
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(b) (i) TEUITT AThSI e YR 9T, ATEH AN T I[G oI g ol TUET e - 3

<Y 9. =W afvn( 000 H)
1) | 9TSIR ° 919 kT {asha 580
(ii) | 3FT T YN 1 A 400
(111) b gl AT bl shd 20
iv) | 99 o T I HT TF-ITHAT 15
(V) | THFT T YIN & T d W T 20
(vi) | SR gl 9T Ik 3UTH 3
(i) “ICUTGA o Hod’ d “Hod g€’ H fawg ol | 2

10. ‘"= 2020 H HIfde ATeTael 3uUd WA HIT H HHT ol THE d A W@l g | TRd H T !
&1 b1 feurfa @ fueq & foe fondi @ Mifess Hifa Surn <1 Soo@ 9 Jua &L | 5

11. (1) “8e o fedi ¥ 9Ra TR 4 YR Fafsean ugfa ot qastiad o eiehid i o

foTu Tgearqul el 33T E |7

T AT QU T = W Tgnd 8 ? U= RO g 379 3T ol I8 i | 2
(i) “hRIEA T FANTATIRWT YA eI i Uk Fmi o= @ 2 17 9=

eh! g TEU T 2 i gfE & | 3

frefeTRaa TTe1 o1 SAHYE® LTI L aUT I T&I1 12 9 13 & I G -
<= Y TSI W AR Shi 39T | 31fereh Ut ol Wall — soiderl, 24 3Tagsr, 2021

[

=19 hT AAIIEAT U Hel 1 WY dfvaeh Tasmehl 1 31131 9 37fereh 2 | =14

31T T Te (Real Estate) 9 THYTAT 8 i o1 IATH L &1 7 | TaEId
S g TEMI o HIOT, T o T T b TNl &1 ol oI Hd sl 3TRA
LI 2 |

’ <o
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(b) (1) Calculate the value of ‘Net Value Added at Factor Cost” (NVA,~) using

the given data : 3
S. No. Items Amount in
(X'000)
(1) Sale of Rice in the market. 580
(11) Purchase of Tractor and Thrasher 400
(111) | Procurement of Rice by the government 20
(1v) | Self consumption of Rice during the year 15
(V) Expenditure on running and 20
maintenance of Tractor and Thrasher
(vi) | Fertilizer subsidies received from the 3
government
(11) Distinguish between ‘value of output’ and ‘value addition’. 2

10. ‘India has been dealing with the problem of Deficient Demand, since the
1imposition of Covid lockdown in March 2020’.

State and discuss any two monetary policy measures to combat the
situation of Deficient Demand in India. 5

11. (1) ‘In the recent past the Government of India has taken vital steps to
revive and popularise Indian System of Medicine ISM)'.

Do you agree with the given statement ? Justify your answer with

valid reasons. 2

(11) ‘Casualization of workforce has became a perennial problem of the

Indian economy.” Justify the given statement with valid arguments. 3

Read the following test carefully and answer, Q. No.-12 and 13, given

below :

Chinese Economy Risks Deeper Slowdown than Markets
Realise — (Bloomberg, 24th October, 2021)

China’s Economy risks slowdown faster than global investors
realise. It 1s pushing to cut its dependence on real-estate. It has
started regulating sectors from education to technology, as it 1s

facing power shortage and the pandemic.

9 % P.T.0O.
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s UM 4 IqH™ a9 H GDP dfg & h 8.2% deh U1 HWTHI a9 |
5% © e 3T i Il &1 7 |
=9 319, 0 gig I R &, JEAHET W THA TH  FHEAT Sl
AT fa=HT0 ° T <hl AT §91 @1 & | Td 9wdte SR b T 37Thel 1,
et fommet & GDP gfig & q fadm@t 6 7.9% o TR L 4.9% <rift 718 7 | o
1t g T AT | ifas- 19 ° gig o HRUT I8 THET 3R 3716 21 Hehd! 2 |

M | Id, U1 ARGH] I THH S o HRUT Ugcl &l <= LHT Toeh™ ot &
AR o1 3r=ferd fopu g ot | <9 o I &ft Shfham 4 A 4 Amm fas
T8 o 6% & 3feres & farepra wea b1 e hi B | =4 1 8161 & 791 A, B Aifaa
H et 23 o Teohd feu B, IY ok Skl NI KON b1 3TUshIicieh TIcHTE o1 | fiued
ek 1% TEAT oh T AT T A 81T &1 H hal U7 b, 3¢ 34 99 8% hi Ig &L !
3ufic 2 |

HIfdS-19 T I HH BH & 1, I U 7Sl 37T &l = | 9 H a9 A 7,
& s Tyl S gferr Sthtest, srteefor, faeft, Ue 9 aTefier o9 gt o o
Siftew femms ¢ w1 2 | o s werfymEn, R g arsels S gl @ o g

HLFhdT & |

Teh 31 99 I8 ft g Tor, <9 o fifa Fmiasn = 9ug faw™ g W 31
foTu |oY ST IS Tohdl & | AWM o TTAR Togqd bl i o1 T 3TN
3cdTCH %l ShH L &l 7, FHATE G- | fas ° gfg o1 i 8 ¢l | 39 TR

1 Tl 37Tl Iy T hTH L Fehdl & SIdich [IE[d hl Tehoold hH BT |

P,

0 ~ ™, c i
chral Gl hLUT <hl el d U ohd | 3

L1,

12. =T 37UISERAT H Hel e+ 3

13. UH fopgl I IUT hl =TT e, Toieg 3779 =9 o 3A7fieh deATgeh X & &4 H §d1 Tohd & | 3

Gei10) » 2
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Many economists have warned that the GDP growth rate will
fall to 8.2% this year and to below 5% in the next year.

China 1s now planning to stabilise debt growth, curb inequality
and channelise resources into hi-tech manufacturing. Data released
in last week already showed a sharp slowdown in third quarter GDP
crowth to 4.9% from 7.9% 1in the previous quarter. There is more
pain likely to come as electricity shortage persist, while new COVID-
19 infections are expected to rise in coming days.

Even before the pandemic hit, China was surprising economists
with slower-than-expected growth rate caused by the easing off debt
risks. China’s Premier Li Keqiang, announced in March a growth
target of “above 6%” 1in the coming financial year.

China has signalled, in recent weeks that it could loosen some
policies like telling banks to pick up the pace of mortgage lending as
a short term stimulus. Governor of People’s Bank of China Y1 Gang,

recently said he sees an expansion of about 8% for this year.

China’s slowdown comes as the global recovery from COVID-19
risks looses momentum. Among those at risks from falling
investments in China are commodity exporters like Australia, South
Africa, Chile, Peru and Brazil. Slower trades could also hit countries

like Malaysia, Singapore and Thailand.

The other risk 1s that China’s policy-makers may struggle to
flick the switch back to growth model i1if they feel that's needed.
Economists noted that the electricity shortages that are crimping

industrial production will make 1t harder to cushion growth by

boosting investment in infrastructure. That kind of policy could only

work next year once the power crunch eases.

12. State and discuss any two reasons that exhibit slowdown in the Chinese

economy. 3

13. Discuss briefly any two measures, which you may suggest as an economic

advisor to the government of China. 3

1 o
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